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B . O9l(37) - HISAIY - BAS il st She | vmsz | mas) As  |ARF
NEASTAHZ 2 ARFAH| 1,800 1,620
301 LerEAZ 4,000 4,000 0
TEEES 2,000 2,000 0
NXNSEANZ A 29 2,000 2,000
14 J|EtB A2 2,000 2,000 0
ARSI 2AIR 2,000 2,000
307 QI2H0I& 194,400 194,400 0
03 IZIHMEE2IHIE X 194,400 194,400 0
NESC A2 2| 194,400 194,400
401 AlZHIZ =0 21,000 21,000 0
01 Al&H] 21,000 21,000 0
NESEA2 NS 21,000 21,000
402 BIIXH=0( & 124,200 108,000 16,200
01 QIFXHE2AIE B (KHRITHE) 124,200 108,000 16,200 | O= A7l &&E B
NE2TAZ SA7PUL| 124,200 108,000
405 KHAHESH] 42,000 138,400 96,400
01 AL 2EFSHI 42.000 78.400 A36,400 | OSHIAH HAE £ 22
CHisps Zec A2 22
NESCAHY 227 42,000 32,400 U T HAIOIR
TOHOIC A S4 X 63,010 64,468  ~1,458 2rszm
Al 43,010 44,468
- 20,000 20,000
307 BI2t0[™ 63,010 64,468  A1,458
Al 43,010 44,468
2 20,000 20,000
02 IHBAAMHEES 63,010 64,468 ~1,458| OAIHI BEX23 24
NEMZ T2 = 2K 63,010 64,468
Al 43,010 44,468
= 20,000 20,000
SH2EH=RIMH 540,901 470,240 70,661 B0-281
309 ME2 455,814 360,240 95,574
0f S - SHEATES 455.814|  360,240| 95,674 |ONT 1 SHOE Ol
BLUSHLTIHE 2B DA 155,814| 360,240 g =
401 AlZHIZ 200 84,737 74,000 10,737
01 Al&HI 84,737 74,000 10,737
1)2LN23H =X HE CCTV WA 84.737 74,000
404 ARG RIERES 350 36,000 35,650
01 ZAF- 2EX=EE2 350 36,000| A35,650| OAIE 25 SAL 2=
1)DLNSSSRNE 29 CHEARIH] 350 36,000
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NEHFTYE 2 960 960
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01 AlRZelt] 1,200 1,200 0
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NESCHY SASFT2IH2Y X 15,000 15,000
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H - 5 - S2I(310) - KISAS - BAS Oflaroy She | vms2 | BmaE) AR
DESBIEES 68,510 68,961
NEME0 6,480 0 OLtest g=cte X
R 390,276 437,803  ~47.527
=2 54,220( = 54,551
336,056 383,252
2| 114,120 165,960| 51,840
JI=Z| 114,120 165,960 51,840 I6-6
201 LEr=gy]| 68,280 79,800 A11,520
01 At 2eltl 67,080 78,600 A11,520|0=xa =24
1)J|2e=x 22| 46,080 57,600 S o= Bt
INSERE U ™Y ADE 20 21,000 21,000
02 ZZ2H| 1,200 1,200 0
NSRR(RIIHS) ALBA] 1,200 1,200
202 O] 40,320 80,640 40,320
01 =0T 40,320 80,640 ~40,30|0=
=N
1)7| 224310t 40,320 80,640
03 S2=ad] 4,800 4,800 0
VSN 4,800 4,800
FAN2SYRF| 4,800 4,800
303 ZA= 720 720
01 ZAI2 720 720 0
22X (DI|H) =2|S M| 720 720
2) X cra| 160 160
2)MU=512 200 200
2)FE, 22X ¢ J|EEH] 360 360
EETT 276,156 271,843 4,313
=2 54,220( = 54,551
- 221,936 | 7 217,29
SIS 276,156 271,843 4,313
2 54,220(= 54,551
2 221,936 |7 217,292
101 2124d| 245,214 242,005 3,209
2 54.220(= 54,551
2 190,994 | 187,454
03 SRE(INH ) 22X 4= 245 214 242,005 3,200 Ozex 230z
1)0IKAREH T 0IEd 01| 245 214 242,005 B [HE SN
20123 196,987 194,379
2 54,220(= 54,551
2 142,767| 7 139,828
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